Subtracting Integers (C)

Use an integer strategy to find each answer.

-15--31= 27 --19 = -81--85=
-42 - 65 = 19--89 = 84 -47 =
-93--61= -29--52 = 34 --66 =
-18--42 = -44 -21 = -69 - 88 =
54 --13 = 1-91= -39-97 =
-81--78 = -16--78 = -53--33 =
24 -74 = -48 - 49 = -5-65=
4-19 = -95-73 = 51-75=
-68 - 38 = 7--4= 18--13 =
-17 --84 = 24 -58 = 65-99 =
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Subtracting Integers (C) Answers

27 --19 =
=46

19--89 =
=108

-44 -21 =

1-91=

=-90

-16--78 =
=62

-48 - 49 =
=-97

-95-73 =
=-168

24 -58 =

Use an integer strategy to find each answer.

-81--85=
= 4

84 -47 =
=37

34 --66 =
=100

-69 - 88 =
=-157

-39-97 =
=-136

-53--33 =
-20

-5- 65 =
= -70

51-75 =
= -24

18--13 =
=31

65-99 =
=-34
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